M.A. EC-07
Labour Economics
Section - A

1. Define the term ‘Labour”.

HH S IRATNT hIfAT|
2. What do you mean by the ‘Natural Rate of Unemployment’?
SRISTITY <hY GTepfcieh &3 & 3T AT FHSI 872
3. Labour market.
HAH Gl
4. What do you mean by “Elasticity of Labour”?
HH Y Gl T o T 3T AT FHSAA 2
5. What is demand of Labour?
S T FTIT FAT g2
6. What is productivity?
ScUTGehdT T 57
7. What is Employment Guarantee scheme?
ISTITR ITRET TNSTAT T &2
8. What is “Primary sector’?

YA &1 Sl IRATNT HIfST|

9. What is Rolling Plan?
QST Tertet T 41?2

10.Define the “seasonal migration”?

AIEAT 9ard I IRHATT HIfST|
11.What is Educated unemployment?
e sRISTeTRY T 872
12.What is “Derived demand”?
"ol HIIT" FT &2
13.What is supply of Labour?
HH T qicl T 52
14.Who is the writer of “The Theory of wages and unemployment”?
{1 qEdh & oIgeh ol T ATH §?
15.Define the “Wage-offer-curve”.

FoI TETT deh T 72

16.What is worker’s Bargaining aptift?




SfBT 7 dereRry #FgRY Fr §2

17.What is meaning of ‘Means of production’|
3cdTGs o °9ceh AT 72

18.What is union of labour?

TG I 3119 T THSTA 872
19.What is “Banded Labour”?

T3 HfAF FE Fe 82
20.What is social securities?

TTATTSTR GI&T F4T §72

21.When minimum wage bill become?

Fagrl?mna?,:& hlo]el hd Sall?
22.When 20 point programme become?

20 AT HAsh e ToAT?
23.What is work for food programme?
I & Sl 3TITST STl AT g7
24.Define the poverty?

IS A IR T

M.A. Economics
Labour Economics
Section - B

1. Describe the main characteristics of Labour?
HH HT 7T [FAYATC s
2. What do you mean by the Labour Economics?

A HAATE T 37T FAT FHASA 872

3. Write short note on forms on Labour market.

HH SR & gfawal oX feogoft faf@u|

4. Define the supply curve of a particular Labour?
HH TAY & forw gfict ash a1 fveieor dfsw|

5. What difference between working and non-working population?
ryefter 3R sranefier SeraEar # A TIv ST

6. Why woman wage rate is Low?
AT T ATl e g1 FT BIcll 82

7. Find out the equilibrium between wage and employment level under
perfect comptetion.



quT ST & 3ederd Hedled TR TR ATyl Td YRR
T AT HfAT|

8. Find out the equilibrium between wage and employment level under
imperfect competition.

37q0T 9Tl ST’ # HIg T WSl ¥R AT Hifav|

9. Describe the assumption of Marginal physical productivity.

AT 3cUTgehdT [Agled Sl ATIANY A8 |

10.Give the suggestions to Increase the productivity of Labour.

HH T ScUTGehdT IGTeT & AT ST |

11.What relation between Increase in productivity of Labour and Labour
union.

HH T ScdTeehdl & gig TUT HH T H 1 Foeatl g2
12. Analysis the Estimation of unemployment in India?

HRA H SRS & ITTATAT T fTHTOT HITST]|
13. Show the occupational distribution of population.

STTHEAT & eqadTdeh [advoT ST YT TSV |
14.Clearby the concept of Automation.

EIATTIdT Shl ITTERUT Sl T HITAT|
15.Show the Interrelation between Technology change and employment.
dehaitehl IRAdeT TT USTIR H eadeaey ol garsd|
16.What is characteristics of the unformal sector?
3itTarRes &7 i faAwary a1 82
17.Explain the process of migration of Labour force?

HAATH & Targ T 9fhaT o GHSSY |

18.Explain the main elements of Input-output model.
AT Al o HEF dcal i TS|
19.Find out the wage determination under perfect competition?

quT ST & 3fecTeTdd Holgdl & [AUROT AT Shifav|
20.Explain the supply of Labour.

HH qfd & dledd I8 |
21.Explain the meaning and difference between MRP and VMP.

MRP 3R VMP &7 318 g 37k TI¥ FHIfAT|
22.What are causes of difference the wage between male and female?
q&T 3R TR T AT 7 3l & T HROT §?
23.What is the Benefits of collective Bargaining?

AR TGS 3 T 7 §2




24.What is causes of Child Labour in India?
AT H STIHH o FIT HRUTE?

M.A. Economics
Labour Economics
Section - C

25.What relation between working hours of Labour and his capacity?
What characteristics of Labour effect his Labour?

HH & S & GUe UG 3T &THAT H AT &Y §2 AT HH
T TIATATY IHhT HSTGIT I THTTAT il 87

26.What do you mean by Labour Economics? Creatically evaluate.
HA YA A AT FAT THASA g2 STDI el
Hedlehel HITT|

27.How determine the Demand of Labour in Different market of
Labour? Explain.

s SRT &7 817 A AT g yeR @uRa gar 82
HASSV|

28.Main problem of the India is Low productivity of Labour. Which
measures are adopted to Increase the productivity of Labour.

HR T Teh JHG FHEIT HH 6T wgeT Scleehdl &1 3 Hr
3careehdl H gig & fAT -l @ 3URT 39 13 g2

29.Give the detail note on Labour problem of Developing nations in
context of India.

AT & TocdT 7 Aeraeiier 2o Y siffe gasar 9 fecqof
o]

30.“Occupational structure of India has not been basic change after
planned Economic development”. Cretically evaluate this statement.

"QrATag 3T faerra & a1g 8 ART & saraades arg &
IS FTT TR 6T §3TT | FH HeT HT FHIET HIfSC|

31.“The Solution of India’s poverty is more employment”. Discuss.

'HR T I GReT T 3UTT 3T ASER &' | Tt fhfaw|
32.Creatically evaluate the schemes of employment providing in India.

AR H USITR UeTT Flad dTell ATSTAT3N hl 3TleITcHSh
SUTEAT FITAT|




33.Show the determination of wage that the process of equilibrium of
Deman and supply of Labour with the help of diagram? Find the
equilibrium of Firm also?

fRrT T TETaT & TS R 4 Y AT T Y & ool B
fshaT & Hatedl &7 EROT Sha &2 B ol Heclotet 81 AT
HiforT|

34.How determine the wage in Imperfect competition? What collective
bargaining effect the wage ? Explain.

371qUT ST & 3HecdTd Holedl ha AU gt &2 &/
e Hiarsit Asigdl &1 wenfad T vl 872

35.How determine the wage of Labour and quantity of employment in
Bi-lateral monopoly completely explain.

fguehar TR &Y [EUf & Halgdl T X g USTIR &l
AT HE AR gl &2 qUIaar TAsnsd|

36. Write note on :
feoquira fafee—
(@) Minimum wage RE-IFIHHGIQ?I
(b) Emerson’s Efficiency Bonus plan 3?:@7{ FIRISTHAT :H&gil

gfd
(c) Bedaux plan &8I hr ﬁlﬁ SRR I
(d) Bonus plan fTeramaTE

37.Creaticaly evaluate the “Importance of minimum wage” in Indian
Insutries.

HRAT 3O H "=gATH HSIGY & Hged" &l JHToATeITcHS
gdi&ToT HIAT|

38.What do you mean by the Agriculture Labour? Is this Homogeneous
organized group? Which are current changes of direction of
agriculture labour.

S HfA @ 3T FA7 FHASA 82 AT T§ Ueh FHET HaT{ocT
HHE &7 BTeT o TN H oTehl GRMIAT H AT IRAeTd §U &2
39. Define the Labour union? Show the Aim and Functions?

HH TY H IREATT EITAT TUT 3% 3237 T Y ddary |

40.Creatically Evaluate the structure of Labour unions.




ARG HAe a7 T GWEAT HT TAddcHdd  gIeTor
fIfaT]

41.Find out the Impact of Workers committies? How doeas these
committies success? Explain.

s FfAfa & e X gara sifav| I gfafaar war a%
A% 81 UTS 87 TAT HITAT|

42.What are the Impact of Labour relations in Indian and Labour Laws.

AR # HA Goraotll Td HH Flofeil I 377S.Tel. 3T FT F21

JHTd T@T 82

43.What do you mean by the concept of social security? Explain the
origin and development of social security in Industrially developed
nations.

ATATTSTh &I T ITUROT F 37T FAT FHA 82 JHrafaes
T8 & fashad TE # FrATiole GI&T & 35H U4 faehrg &l
guie SHIfaT|

44.Discuss Extencilly development of social security method in India.

mﬁqmﬁmgm%ﬁa;gﬁrﬁwaﬁﬁmwﬂ
qASS|

45.Write short note on :

foe I feoaoft faf@w:

(a) Housing corporation 3ITaTHIT DI

(b) Educational schemes for Industrial Labours e st
& foIv 18T ratarre

(c) Labour Welfare fund AH $H ool hIY

(d)Health Schemes for Industrial Labours 3iTafaie siff@er &
oI Eareey Arster

46.Analysis the socio-economic problems of the Industry which is occur
the employment of child labour. What is Improvement in condition of
child labour of the labour Laws in India explain.

IR A dTT ATADT & VTR F 3ol gl 3AF T
ATATTSTeh FHEA3T 1 Gied fa&wor Hifav| T & el
ST T AT & HH HlofeT GRT FEl s FUR §? TqE
EQI I



47.What are causes of Inferior Economic conditions of Agricultural

Labours? What efforts are doing by Govt. of India to correct the
conditions of Agriculture Labour?

i HfHRT T EeT 1Tk G & HROT 4T §? HRA THR
ERT Sehall SR T URA o ToIT a1 941 {6 14 &2

48.What are main problems of woman workers? Analysis the measures
to Improve condition of woman Labour by the Govt. of India?

Afgelr AT T AET FAFIR a8 AT TWHR gRT fH
I 39Tt 1 fadwor 8 FifSw|



